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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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XX6

BYiE) | GEBERTIC (B)) | EBE (BEAH/#K) | XS ERE

01:00 69 20.0 i B3i%@01:00 (FKHEERHZE)
07:35 69 20.0 i FnH#e07:35 (KREERE)
08:25 69 20.0 i FnH#fe08:25 (KRFERES)
09:10 69 20.0 i ¥HA@09:10 (KRF{EREE)
10:10 69 20.0 i FiHe10:10 (RFEREE)
11:10 69 20.0 i nfe11:10 (REERES)
12:00 69 20.0 i FiH@12:00 (RFERE)
12:50 69 20.0 i FiHfe12:50 (RRAERSE)
13:35 69 20.0 i FnHA@13:35 (RFERE)
14:25 69 20.0 i FiHRe14:25 (KREERES)
23t+]690.0 (10%) 200. 0 EPUHKEC: 2500, PH: 6.4

unusual large postFgEt from yesterday (75), set to 60.0 ml.
[E];&%EC 4057.0 Ki&, EiFRECAERMIEER
# [E];%ECZ (2870.0 vs 4057.0) RS




FRV (ml plant-1)

XX6_0, Day=149 (2025-03-24)
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XX6

BfiE) | EBIETK (D) | E=E (EH/) | XK EFE

01:00 172 20.0 i B21%@01:00 (KRFEEH:E)
07:15 172 20.0 i BRi&@07:15 (KPBIEREE)
07:55 172 20.0 i BRi&@07:55 (KRFERE)
08:35 172 20.0 i 1ii1%@08:35 (K FAfER%=2)
09:45 172 20.0 i BRi%@09:45 (RFA{ERELSE)
10:40 172 20.0 i BRi%@10:40 (KRREERE)
11:30 172 20.0 i FRi%@11:30 (RAERSS)
12:15 172 20.0 i BRig&e12:15 (KPBEEE)
13:00 172 20.0 i B1%@13:00 (KRFERE)
13:45 172 20.0 i Rige13:45 (kKAEREE)
14:30 172 20.0 i BRi&@14:30 (KPBHERE)
15:25 172 20. 0 i RRi&e@15:25 (KRAERSE)
2it] 2064.0 (12%) 240.0 3EHKEC: 2500, PH: 6.4

EOREBBHERIRIERIZI (171.0 vs 67.0))
ZRIA L PRIEBES1.0 ml.
FH[EKRECE (2806.0 vs 3884.0) R
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XX6

AfiE) | GEBIATC (7)) | EBE (EAH/K) | XS EFE

07:15 170 20.0 i ;Ri&@07:15 (kFB{EREE)
07:55 170 20.0 i BR1%&@07:55 (K PBIEREE)
08:35 170 20.0 i Bi&@08:35 (KRFERE)
09:25 170 20.0 i 1RRi%@09:25 (K FAfER%=S)
10:25 170 20.0 i B31%@10:25 (REERZE)
11:20 170 20.0 i BRige11:20 (REERSE)
12:05 170 20.0 RS RRi%@12:05 (FRAERSS)
12:50 170 20.0 i BRi%@12:50 (FKPIERSE)
13:35 170 20.0 i B1%@13:35 (KRFEREE)
14:20 170 20.0 i Rige14:20 (kPAHEREE)
15:15 170 20.0 i BRi&e@15:15 (FKPBERE)
16:15 170 20. 0 i BRi&e16:15 (KRAIERSE)
2it] 2040.0 (12%) 240.0 3EHKEC: 2496.6, PH: 6.5

ERGEBR AT CRIRIRBYEN (176.0 vs 69.0))
ZRIA L PRIEBES1.0 ml.
FHEIKRECE (2774.0 vs 3640.0) RS



XX6_0, Day=147.0 (2025-03-22)
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XX6

BriE) | EBIATK (FD) | EHE (EHRH/K) | XK ERE

07:15 171 20.0 i BRi&@07:15 (KPBIEREE)
08:05 171 20. 0 i {312@08:05 (KRF{ERLEE)
08:55 171 20.0 i {RR1%@08:55 (K FHIERLEE)
10:10 171 20.0 i Bi1%@10:10 (REERZE)
11:20 171 20.0 i BRige11:20 (REERSE)
12:15 171 20.0 i Ri%e12:15 (RAERRSS)
13:00 171 20.0 i ;Ri&@13:00 (kPB{EREE)
13:50 171 20.0 i B18@13:50 (KRFERLEE)
14:45 171 20.0 i 1Ri%e14:45 (K BERKS)
16:00 171 20.0 i BRi%@16:00 (FKPBIERE)
2it|1710.0 (10X%) 200. 0 EFREC: 2500, PH: 6.5

ERGEBR R CRIRIRBIEN (170.0 vs 69.0))

ZRIA L PRIEBT49. 0 ml.




XX6_0, Day=146.0 (2025-03-21)
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